

11.04.

Find new Taylor series from the old.

Recall the Taylor series you see in the lab:

$$\sum_{k=0}^{\infty} \frac{f^{(k)}(a)}{k!} (x-a)^k$$

Use $a=0$ Macaulan Series

$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} \quad (-\infty, +\infty)$$

$$\ln(1+x) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^n}{n} \quad (-1, 1)$$

$$\sin(x) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} x^{2n+1} = x - \frac{x^3}{3!} + \frac{x^5}{5!} - \dots \quad (-\infty, +\infty)$$

$$\cos(x) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n)!} x^{2n} = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \dots \quad (-\infty, +\infty)$$

Ex:

$$f(x) = \sum_{n=1}^{\infty} a_n (x-a)^n + c_0$$

$$f(x^2) = ? \quad \text{or} \quad f(\sqrt{x}) = ?$$

$$\Rightarrow \sin(x^2) = ? \quad \cos(\sqrt{x}) = ?$$

$$\Rightarrow \sin(x^2) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} x^{4n+2}$$

$$\text{Ex: } \frac{1}{1+x^2} = ?$$

$$\frac{1}{1+x} = \sum_{n=0}^{\infty} (-1)^n x^n + 1$$

$$\frac{1}{1+x^2} = \sum_{n=0}^{\infty} (-1)^n x^{2n} + 1$$

How do we write $x^h f(x) = ? \Rightarrow x^h f = \sum_{n=0}^{\infty} C_n x^{h+n} + C x^h$

Ex: $\frac{x^3}{x+2} = ?$

$$\frac{1}{x+2} = \frac{1}{2} \cdot \frac{1}{\frac{x}{2}+1} = \frac{1}{2} \left(\sum_{n=1}^{\infty} \left(\frac{x}{2}\right)^n \right)$$

$$\therefore \frac{x^3}{x+2} = \frac{1}{2} \sum_{n=1}^{\infty} \left(\frac{x}{2}\right)^n \cdot x^{h+n}$$

How do we differentiate and integrate of Power Series?

Thm: If the power series $\sum C_n (x-a)^n$ has radius of convergence $R > 0$, then the function defined by

$$f(x) = C_0 + C_1(x-a) + C_2(x-a)^2 + \dots = \sum C_n (x-a)^n$$

is differentiable and the series converges on the interval $(a-R, a+R)$ and

$$1. f'(x) = C_1 + 2C_2(x-a) + \dots = \sum n C_n (x-a)^{n-1}$$

(differentiate each term)

$$2. \int f(x) dx = C_0 x + C_1 \frac{(x-a)^2}{2} + C_2 \frac{(x-a)^3}{3} + \dots = C_0 x + \sum_{n=1}^{\infty} \frac{C_n (x-a)^{n+1}}{(n+1)!}$$

(integrate each term)

The validity of the power series in Equations (1) and (2) are both

$$\int C_n (x-a)^n dx = \frac{C_n (x-a)^{n+1}}{n+1}$$

$$(C_n (x-a)^n)' = C_n n (x-a)^{n-1}$$

$$\text{Example: } \ln(1+x) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^n}{n}$$

$$\int \ln(1+x) dx = ?$$

$$\Rightarrow = \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^{n+1}}{(n+1)n} \quad \text{for } n=1$$

Ex: $f(x) = \ln(1+x)$? \Rightarrow hard to write the Laurent series

$$\text{but } f'(x) = \frac{1}{1+x^2} = \sum_{n=1}^{\infty} (-1)^n x^{2n} + 1$$

$$\int f(x) = \sum_{n=1}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1} + x + \frac{C}{n} \quad \text{as } \ln(1) = 0$$

$$\text{Ex: } x^2 \cos(x) = ?$$

$$\cos(x) = \sum_{n=1}^{\infty} \frac{(-1)^n x^{2n}}{(2n)!} + 1$$

$$x^2 \cos(x) = \sum_{n=1}^{\infty} \frac{(-1)^n x^{2n+2}}{(2n)!} + x^2$$